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1 Introduction
In last meeting, a WF of CGI reading has been agreed [1]. The remaining issues are captured as follow. 
	· MIB decoding delay for FR2
· Option 1: 3 * N * TSMTC, where N = 8 and TSMTC is SMTC periodicity of target cell.
· Option 2: 5 * TSMTC + N * TSMTC, where N = 8 and TSMTC is SMTC periodicity of target cell.
· SIB1 decoding delay requirements
· Option 1: -3 dB SNR and 6 samples
· Option 2: -4 dB SNR and 6 samples


In this paper, we will continue to discuss the requirements for CGI reading for NR cell. 
2 CGI reading procedure
MIB decoding
In last meeting, there were lots of discussion on whether and how to introduce the Rx beam sweeping in CGI reading. RAN4 already had a conclusion on whether using Rx beam sweeping is up to UE. Thus, RAN4 shall define the minimum requirement based on Rx beam sweeping solution. Similarly as the rule in measurement requirement, the FR2 requirement will be N*X SMTC, where N=8 and X is the detection times in FR1. When we consider the bottleneck of side condition is -3dB in SIB1 decoding, MIB decoding times can be 3 with the same side condition. 
Option 2 is too aggressive to only permit 1 shot Rx beam sweeping for AGC. On the contrary, SCell activation requirement has a similar inter-frequency AGC retuning, but 2 shots Rx beam sweeping is permitted for AGC retuning. After that, Rx beam seeping for cell search is also permitted. We think the scenario in CGI reading is very similar because they both ask UE to execute some inter-frequency procedures. Thus, it’s suggested to re-use the idea in SCell activation FR2 to permit 3*N shots for MIB decoding. On the other hand, CGI reading is a best effort procedure for UE. It’s better to guarantee UE’s decoding successful rate other than to ask UE to have multiple attempts. It also means shorter MIB decoding delay is not a reasonable solution in CGI reading. 
[bookmark: _Ref521425787]Proposal 1: In FR2, MIB decoding is 3 * N * TSMTC, where N = 8 and TSMTC is SMTC periodicity of target cell.

RMSI decoding
In RAN4 #94e meeting, we share the one shot simulation results for SIB1 decoding below. Considering one shot detection BLER equals 0.7 for SNR=-3dB, 7 times RMSI decoding can fulfill the 90% target success rate for SIB1 decoding.
In RAN4 #94e-bis meeting, we also shared the soft-combining simulation results with interference for SIB1 decoding below. The soft combining (N=4) performance will be even worse than one shot performance due to the estimation error of cross correlation matrix for noise. 
Firstly, based on current specification, the RMSI scheduling periodicity is up to gNB implementation. It means UE doesn’t know which occasion is really used to transmit RMSI or not. Secondly, we found that the network usually configured the same RMSIs periodicity from different serving cells in real field. Typically, the SIB1 of the target cell will suffer a consistent interference of SIB1 from UE’s serving cell. If the interference is the same in each combined sample, there is no help by soft-combing in terms of performance. If we define a very low SINR side condition, we’re pessimistic to say that lots of UE whose SINR is between -3dB and -6dB will fail to decode the CGI and waste even more power in such interference-dominated scenario. Thirdly, autonomous gap based CGI reading is typically used for handover. A reasonable handover will be triggered when neighbor cell’s SNR is higher than serving cell’s SNR. Thus, defining CGI reading side condition as -3dB has enough margin for network to process the triggering.  
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Figure 1. Soft combining simulation results for SIB1 decoding with interference
[bookmark: _Ref36918823][bookmark: _Ref521425795]Proposal 2: The CGI reading requirement shall be defined with one-shot decoding for SIB1 on SNR=-3dB.
3 Summary
In this paper, we propose the CGI reading requirement as follow. 
Proposal 1: In FR2, MIB decoding is 3 * N * TSMTC, where N = 8 and TSMTC is SMTC periodicity of target cell.
Proposal 2: The CGI reading requirement shall be defined with one-shot decoding for SIB1 on SNR=-3dB.
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